
25923 TINA LANE • KATY TX 77494     
 www.patented-systems.com      P  281-352-8588      F  501-694-3080

Section A
GOOD PRODUCT FOR GOOD PEOPLE SINCE 1980

Type A : Generic
These parts are of a generic nature such as fasteners, O-rings, fuses, switches, lamps and lamp 

holders which are purchased from reputable suppliers.



www.patented-systems.com

25923 TINA LANE • KATY TX 77494 www.patented-systems.com      P  281-352-8588      F  501-694-3080

www.patented-systems.com

25923 TINA LANE • KATY TX 77494  www.patented-systems.com      P  281-352-8588      F  501-694-3080

Part availability as of March 2023 but subject to prior sale.  Part condition is new unless otherwise stated.

STUD   #010168

  Part Number				   Description			            Qty. In Stock

 #010168 STUD, 5/8 BSF X 2-25/32 SO 38

SCREW   #010293

#010293 SCREW, HEX 2BA X 1/2” 34

SETSCREW   #010750

#010750 SETSCREW, HX SCKT 2BA X 3/16” 28
#010751 SETSCREW, HX SCKT 2BA X 1/4”    3
#010753 SETSCREW, HX SCKT 2BA X 3/8” 29
#010761 SETSCREW, HX SCKT 4BA X 3/16” 177
#010762 SETSCREW, HX SCKT 2BA X 1/4” 3

KEY   #011302

#011302 KEY, WOODRUFF #304 65
#011314 KEY, WOODRUFF #15 0



www.patented-systems.com

25923 TINA LANE • KATY TX 77494  www.patented-systems.com      P  281-352-8588      F  501-694-3080

www.patented-systems.com

25923 TINA LANE • KATY TX 77494 www.patented-systems.com      P  281-352-8588      F  501-694-3080

Part availability as of March 2023 but subject to prior sale.  Part condition is new unless otherwise stated.

  Part Number				      Description			 Qty. In Stock

PIN   #011408

#011408 PIN, SPRING, 3/32 X 1/2” 75

#011409 PIN, SPRING, 3/32 X 5/8” 5

#011412 PIN, SPRING, 3/32 X 1” 72

#011414 PIN, SPRING, 3/32 X 1-1/4” 9

#011416 PIN, SPRING, 1/8 X 3/8” 239

#011417 PIN, SPRING, 1/8 X 5/16” 46

#011418 PIN, SPRING, 1/8 X 1/2” 32

#011422 PIN, SPRING, 1/8 X 3/4” 83

#011423 PIN, SPRING, 1/8 X 7/8” 241

#011426 PIN, SPRING, 1/8 X 1-1/4”   66

#011428 PIN, SPRING, 1/8 X 1-1/2” 62

#011447 PIN, SPRING, 3/16 X 1” 279

#011449 PIN, SPRING, 3/16 X 1-1/4” 92

#011452 PIN, SPRING, 3/16 X 1-3/4” 87

#011453 PIN, SPRING, 3/16 X 2” 91

#011458 PIN, SPRING, 1/4 X 3/4” 915

#011460 PIN, SPRING, 1/4 X 1” 91

#011464 PIN, SPRING, 1/4 X 1-1/2” 6

#011477 PIN, SPRING, 5/16 X 2” 2

#011478 PIN, SPRING, 5/16 X 2-1/4” 36



www.patented-systems.com

25923 TINA LANE • KATY TX 77494 www.patented-systems.com      P  281-352-8588      F  501-694-3080

www.patented-systems.com

25923 TINA LANE • KATY TX 77494  www.patented-systems.com      P  281-352-8588      F  501-694-3080

Part availability as of March 2023 but subject to prior sale.  Part condition is new unless otherwise stated.

NUT   #011711

  Part Number				   Description			              Qty. In Stock

#011711 NUT, HEX, 1” BSF 11

#012000 NUT, HEX, 0 B.A. 60

#012002 NUT, HEX, 2 B.A. 28

#012006 NUT, HEX, 6 B.A. 90

SCREW   #012242

 #012242 SCREW FOR BANJO, 1/4” BSP 7

JOINT RING   #012342

#012342 JOINT RING, COPPER 32

#012343 JOINT RING, (START LIMITER) 15



www.patented-systems.com

25923 TINA LANE • KATY TX 77494  www.patented-systems.com      P  281-352-8588      F  501-694-3080

www.patented-systems.com

25923 TINA LANE • KATY TX 77494 www.patented-systems.com      P  281-352-8588      F  501-694-3080

Part availability as of March 2023 but subject to prior sale.  Part condition is new unless otherwise stated.

MAGNETIC PLUG   #012554  

  Part Number				   Description			            Qty. In Stock

 #012554  MAGNETIC PLUG 1

WASHER  FIBER   #012631

#012600 WASHER  FIBER, 1/4” 15

#012601 WASHER  FIBER, 1/8 BSP 255

#012603 WASHER  FIBER, 1/4 BSP 267

#012604 WASHER  FIBER, 1/2 BSP 2

#012607 WASHER  FIBER, 1-1/4” BSP 12

#012610 WASHER  FIBER, 2” BSP   0

WASHER  ALUMINUM   #012631

#012631 WASHER  ALUMINUM, 1/4 BSP 350

#012632 WASHER  ALUMINUM, 3/8 BSP   52

#012633 WASHER  ALUMINUM, 1/2 BSP   13

#012637 WASHER  ALUMINUM, 1-1/2” 251



www.patented-systems.com

25923 TINA LANE • KATY TX 77494 www.patented-systems.com      P  281-352-8588      F  501-694-3080

www.patented-systems.com

25923 TINA LANE • KATY TX 77494  www.patented-systems.com      P  281-352-8588      F  501-694-3080

Part availability as of March 2023 but subject to prior sale.  Part condition is new unless otherwise stated.

WASHER COPPER   #012650

#012650 WASHER COPPER, 1/8 BSP 317

#012651 WASHER COPPER, 1/4 BSP   990

#012652 WASHER COPPER, 3/8 BSP        43

#012653 WASHER COPPER, 1/2 499

#012655 WASHER COPPER, 1”        65

  Part Number				   Description			            Qty. In Stock

CONNECTION   #012805   

#012805 CONNNECTION 5



www.patented-systems.com

25923 TINA LANE • KATY TX 77494  www.patented-systems.com      P  281-352-8588      F  501-694-3080

www.patented-systems.com

25923 TINA LANE • KATY TX 77494 www.patented-systems.com      P  281-352-8588      F  501-694-3080

Part availability as of March 2023 but subject to prior sale.  Part condition is new unless otherwise stated.

WASHER BRIGHT   #013101

  Part Number				   Description			            Qty. In Stock

#013101 WASHER BRIGHT, 1/4” 221

#013102 WASHER BRIGHT, 5/16” 160

#013103 WASHER BRIGHT, 3/8”    62

#013105 WASHER BRIGHT, 1/2” 17

#013107 WASHER BRIGHT, 5/8”         6

#013109 WASHER BRIGHT, 3/4”     17

#013110 WASHER BRIGHT, 7/8” 3

#013111 WASHER BRIGHT, 1” 6

#013131 WASHER BRIGHT, 2 BA 45

#013132 WASHER, 2 BA 102



www.patented-systems.com

25923 TINA LANE • KATY TX 77494 www.patented-systems.com      P  281-352-8588      F  501-694-3080

www.patented-systems.com

25923 TINA LANE • KATY TX 77494  www.patented-systems.com      P  281-352-8588      F  501-694-3080

Part availability as of March 2023 but subject to prior sale.  Part condition is new unless otherwise stated.

SPLIT PIN   #013201  

  Part Number				   Description			            Qty. In Stock

#013201 PIN, SPLIT, 1/16” X 1/2” LG. 28

#013203 SPLIT PIN, 1/16” X 3/4” 23

#013204 PIN, SPLIT, 1/16” X 7/8” LG. 77

#013205 PIN, SPLIT, 1/16” X 1” LG. 56

#013213 PIN, SPLIT, 3/32” X 3/4” LG. 29

#013215 PIN, SPLIT, 3/32” X 1” LG. 6

#013216 PIN, SPLIT, 3/32” X 1-1/4” LG. 39

#013224 PIN, SPLIT, 1/8” X 1” LG. 5

#013226 PIN, SPLIT, 1/8” X 1-1/2” LG. 100

#013246 SPLIT PIN, 3/16 X 2” 8

#013248 PIN, SPLIT, 3/16” X 2-1/2” LG. 149

#013255 PIN, SPLIT, 7/32” X 2” LG. 34

#013415 PIN, SPLIT TAPER, 1/8 X 1-1/2 55



www.patented-systems.com

25923 TINA LANE • KATY TX 77494  www.patented-systems.com      P  281-352-8588      F  501-694-3080

www.patented-systems.com

25923 TINA LANE • KATY TX 77494 www.patented-systems.com      P  281-352-8588      F  501-694-3080

Part availability as of March 2023 but subject to prior sale.  Part condition is new unless otherwise stated.

WASHER    #013902

SCREW    #014024

  Part Number				   Description			            Qty. In Stock

#013902 WASHER, 3/16” 214
#013906 WASHER, 7/16”  84

#014024 SCREW, CSK, SLOT 2BA X 3/8” 38

#014026 SCREW, CSK, SLOT, 2BA X 1/2”  75

#014027 SCREW, CSK, SLOT, 2BA X 5/8” 105

#014030 SCREW, CSK, SLOT, 2BA X 1-1/4”  68

#014042 SCREW, CSK, SLOT, 4BA X 1/4”   86

#014043 SCREW, CSK, SLOT, 4BA X 5/16 100

#014046 SCREW, CSK, SLOT, 4BA X 1/2” 74

#014050 SCREW, CSK, SLOT, 4BA X 1” 186



www.patented-systems.com

25923 TINA LANE • KATY TX 77494 www.patented-systems.com      P  281-352-8588      F  501-694-3080

www.patented-systems.com

25923 TINA LANE • KATY TX 77494  www.patented-systems.com      P  281-352-8588      F  501-694-3080

Part availability as of March 2023 but subject to prior sale.  Part condition is new unless otherwise stated.

ROUND SCREW   #014123

  Part Number				   Description			            Qty. In Stock

CHEESEHEAD SCREW   #014223

#014222 SCREW, CHEESEHEAD, 2BA X 1/4” 20

#014223 SCREW, CHEESEHEAD, 2BA X 5/16” 167

#014226 SCREW, CHEESEHEAD, 2BA X 1/2”  88

#014245 SCREW, CHEESEHEAD, 4BA X 7/16” 123

#014123 SCREW, ROUND HEAD, 2BA X 5/16” 90

#014126 SCREW, ROUND HEAD, 2BA X 1/2” 15



www.patented-systems.com

25923 TINA LANE • KATY TX 77494  www.patented-systems.com      P  281-352-8588      F  501-694-3080

www.patented-systems.com

25923 TINA LANE • KATY TX 77494 www.patented-systems.com      P  281-352-8588      F  501-694-3080

Part availability as of March 2023 but subject to prior sale.  Part condition is new unless otherwise stated.

JOINT   #015004  

  Part Number				   Description			            Qty. In Stock

#015004 JOINT, 1-1/4” BSP 0

#015006 JOINT, 2” BSP 12

#015007 JOINT, 2-1/2” BSP 3

#015106 JOINT, 2” BSP 8

#015107 JOINT, 2-1/2” BSP 6

#015112 JOINT, 6” BSP 3

#015155 JOINT, 1-1/2” BSP 5

#015156 JOINT, 2” BSP 2

#015157 JOINT, 2-1/2” BSP 0

#015158 JOINT, 3” BSP    2

#015160 JOINT, 4” BSP 1

#015162 JOINT, 6” BSP 5

#015184 JOINT, 1-7/8” I.D. 10

#015185 JOINT, 2” I.D. 4

#015186 JOINT, 2-1/4” I.D. 4



www.patented-systems.com

25923 TINA LANE • KATY TX 77494 www.patented-systems.com      P  281-352-8588      F  501-694-3080

www.patented-systems.com

25923 TINA LANE • KATY TX 77494  www.patented-systems.com      P  281-352-8588      F  501-694-3080

Part availability as of March 2023 but subject to prior sale.  Part condition is new unless otherwise stated.

EYEBOLT   #015550

  Part Number				   Description			            Qty. In Stock

KEY   #015642

 #015516 EYEBOLT, 1/2” UNC 2

 #015550 EYEBOLT, 1/4” UNF 6

 #015553 EYEBOLT, 5/8” UNF 2

 #015554 EYEBOLT, 3/4” UNF 2

#015610 KEY 3

#015642 KEY, 5/16 X 1/4 X 1-3/4   6

#015650 KEY, 3/8 X 1/4 X1-1/4 1



www.patented-systems.com

25923 TINA LANE • KATY TX 77494  www.patented-systems.com      P  281-352-8588      F  501-694-3080

www.patented-systems.com

25923 TINA LANE • KATY TX 77494 www.patented-systems.com      P  281-352-8588      F  501-694-3080

Part availability as of March 2023 but subject to prior sale.  Part condition is new unless otherwise stated.

WING NUT    #018213

  Part Number				   Description			            Qty. In Stock

#018213 NUT, WING, 1/4 UNF 83

#018214 NUT, WING, 5/16 UNF 21

OIL SEAL    #018441             

#018441 SEAL, OIL, 1-3/4” 102

LOCKNUT    #018600

#018600 LOCKNUT, 2BA 34



www.patented-systems.com

25923 TINA LANE • KATY TX 77494 www.patented-systems.com      P  281-352-8588      F  501-694-3080

www.patented-systems.com

25923 TINA LANE • KATY TX 77494  www.patented-systems.com      P  281-352-8588      F  501-694-3080

Part availability as of March 2023 but subject to prior sale.  Part condition is new unless otherwise stated.

BLACK ROUND KNOB    #018912

RETAINING RING     #018824

  Part Number				   Description			            Qty. In Stock

#018824  RING, RETAINING, EXT 1/4” 101

#018855  RING, RETAINING, SEEGER 1/4 EX   0

#018912          KNOB, BLACK, ROUND, 3/8 UNF 2

CAPSCREW    #019672          

#019672           CAPSCREW, 2BA X 1/2” 98



www.patented-systems.com

25923 TINA LANE • KATY TX 77494  www.patented-systems.com      P  281-352-8588      F  501-694-3080

www.patented-systems.com

25923 TINA LANE • KATY TX 77494 www.patented-systems.com      P  281-352-8588      F  501-694-3080

Part availability as of March 2023 but subject to prior sale.  Part condition is new unless otherwise stated.

  Part Number				   Description			            Qty. In Stock

OIL SEAL    #020401

#020401 SEAL, OIL, 1/4” 49

#020403 SEAL, OIL, 3/8” 68

#020404 SEAL, OIL, 3/8” 34

#020407 SEAL, OIL, 1/2” 1

#020413 SEAL, OIL, 3/4” 1

#020417 SEAL, OIL, 15/16” 106

#020430 SEAL, OIL, 1-1/4” 6

#020465 SEAL, OIL, 2-3/4” 21



www.patented-systems.com

25923 TINA LANE • KATY TX 77494 www.patented-systems.com      P  281-352-8588      F  501-694-3080

www.patented-systems.com

25923 TINA LANE • KATY TX 77494  www.patented-systems.com      P  281-352-8588      F  501-694-3080

Part availability as of March 2023 but subject to prior sale.  Part condition is new unless otherwise stated.

#021202 HOSE CLAMP, 5/8 TO 7/8 3
#021203 HOSE CLAMP, 1-1/2 TO 2-1/8 2
#021206 HOSE CLAMP, 1-3/4 TO 2-5/8 4

HOSE CLAMP    #021202

  Part Number				   Description			            Qty. In Stock

 OVAL FLANGE    #021610

#021610 FLANGE, OVAL, 3/4 BSP 1

SPRING WASHER    #021701

#021701 WASHER, SPRING, 6 B.A. 138
#021702 WASHER, SPRING, 4 B.A. 58
#021703 WASHER, SPRING, 2 B.A. 278
#021704 WASHER, SPRING, 1/4” 729
#021705 WASHER, SPRING, 5/16” 76
#021706 WASHER, SPRING, 3/8”        994
#021707 WASHER, SPRING, 7/16” 73
#021708 WASHER, SPRING, 1/2” 349
#021710 WASHER, SPRING, 5/8”  30
#021711 WASHER, SPRING, 3/4” 44
#021712 WASHER, SPRING, 7/8”     1
#021713 WASHER, SPRING, 1” 288
#021731 WASHER, SPRING, 1/4” 57
#021732 WASHER, SPRING, 5/16” 22



www.patented-systems.com

25923 TINA LANE • KATY TX 77494  www.patented-systems.com      P  281-352-8588      F  501-694-3080

www.patented-systems.com

25923 TINA LANE • KATY TX 77494 www.patented-systems.com      P  281-352-8588      F  501-694-3080

Part availability as of March 2023 but subject to prior sale.  Part condition is new unless otherwise stated.

#021804 WASHER, DBL CL SPRING, 1/4” 509
#021806 WASHER, DBL CL SPRING, 3/8” 477
#021808 WASHER, DBL CL SPRING, 1/2”    68
#021810 WASHER, DBL CL SPRING, 5/8” 101

DBL WASHER    #021804

  Part Number				   Description			            Qty. In Stock

STUD    #022501

#022501 STUD, 1/4-28 X 3/8” SO 11

#022503 STUD, 1/4-28 X 5/8” SO 160

#022505 STUD, 1/4-28 X 7/8” SO    86

#022508 STUD, 1/4-28 X 1-1/4” SO    0

#022515 STUD, 1/4-28 X 2-1/2 193

#022519 STUD, 3/8-24 X 1” SO 315

#022523 STUD, 3/8-24 X 1-1/2” SO 7

#022533 STUD, 3/8-24 X 2-7/8” SO 1

#022539 STUD, 1/2-20 X 1-1/8” SO 21

#022561 STUD, 5/8-18 X 1-12” SO 39

#022562 STUD, 5/8-18 X 1-5/8” SO 23



www.patented-systems.com

25923 TINA LANE • KATY TX 77494 www.patented-systems.com      P  281-352-8588      F  501-694-3080

www.patented-systems.com

25923 TINA LANE • KATY TX 77494  www.patented-systems.com      P  281-352-8588      F  501-694-3080

Part availability as of March 2023 but subject to prior sale.  Part condition is new unless otherwise stated.

  Part Number				   Description			            Qty. In Stock

HEX SCREW    #022701

#022701 SCREW, HEX 1/4-28 X 3/8 29

#022702 SCREW, HEX 1/4-28 X 1/2 56

#022703 SCREW, HEX 1/4-28 X 5/8 78

#022704 SCREW, HEX 1/4-28 X 3/4 372

#022705 SCREW, HEX 1/4-28 X 1    70

#022706 SCREW, HEX 1/4-28 X 1-1/4” 16

#022707 SCREW, HEX 1/4-28 X 1-1/2     3

#022709 SCREW, HEX 3/8-24 X 5/8 200

#022710 SCREW, HEX 3/8-24 X 7/8     16

#022711 SCREW, HEX 3/8-24 X 1/2 255

#022712 SCREW, HEX 3/8-24 X 3/4   79

#022713 SCREW, HEX 3/8-24 X 1 120

#022714 SCREW, HEX 3/8-24 X 1-1/2 170

#022716 SCREW, HEX 3/8-24 X 1-1/4 194

#022722 SCREW, HEX 1/2-20 X 1   37

Hex Screw page A



www.patented-systems.com

25923 TINA LANE • KATY TX 77494  www.patented-systems.com      P  281-352-8588      F  501-694-3080

www.patented-systems.com

25923 TINA LANE • KATY TX 77494 www.patented-systems.com      P  281-352-8588      F  501-694-3080

Part availability as of March 2023 but subject to prior sale.  Part condition is new unless otherwise stated.

  Part Number				   Description			            Qty. In Stock

HEX SCREW    #022701

Hex Screw page B

#022723 SCREW, HEX 1/2-20 X 1-1/4 262

#022724 SCREW, HEX 1/2-20 X 1-1/2 147

#022725 SCREW, HEX 1/2-20 X 2   9

#022729 SCREW, HEX 5/8-18 X 1-3/4  91

#022730 SCREW, HEX 5/8-18 X 1 193

#022732 SCREW, HEX 5/8-18 X 1-1/4    67

#022733 SCREW, HEX 5/8-18 X 1-1/2 183

#022734 SCREW, HEX 5/8-18 X 2 135

#022735 SCREW, HEX 5/8-18 X 3    82

#022736 SCREW, HEX 5/8-18 X 1-3/8    7

#022739 SCREW, HEX 3/4-16 X 1-1/2 52

#022741 SCREW, HEX 3/4-16 X 2   8

#022802 SCREW, HEX 5/16-24 X 5/8 42

#022803 SCREW, HEX 5/16 UNF X 3/4” 32

#022804 SCREW, HEX 5/16-24 X 1   6



www.patented-systems.com

25923 TINA LANE • KATY TX 77494 www.patented-systems.com      P  281-352-8588      F  501-694-3080

www.patented-systems.com

25923 TINA LANE • KATY TX 77494  www.patented-systems.com      P  281-352-8588      F  501-694-3080

Part availability as of March 2023 but subject to prior sale.  Part condition is new unless otherwise stated.

HEX BOLT    #022902

Hex Bolt page A

  Part Number				   Description			            Qty. In Stock

#022902 BOLT, HEX, 1/4-28 X 1     0

#022903 BOLT, HEX, 1/4-28 X 1-1/4 47

#022904 BOLT, HEX, 1/4-28 X 1-1/2 45

#022905 BOLT, HEX, 1/4-28 X 1-3/4 41

#022906 BOLT, HEX ,1/4-28 X 2 45

#022907 BOLT, HEX, 1/4-28 X 2-1/2   3

#022908 BOLT, HEX, 3/8-24 X 1 39

#022909 BOLT, HEX, 3/8-24 X 1-1/4 44

#022910 BOLT, HEX, 3/8-24 X 1-1/2   6

#022911 BOLT, HEX, 3/8-24 X 1-3/4 39

#022912 BOLT, HEX, 3/8-24 X 2      5

#022913 BOLT, HEX, 3/8-24 X 2-1/4 18

#022914 BOLT, HEX, 3/8-24 X 2-1/2 39

#022915 BOLT, HEX, 1/2-20 X 1 59

#022917 BOLT, HEX, 1/2-20 X 1-1/2 11

#022919 BOLT, HEX, 1/2-20 X 2      6

#022920 BOLT, HEX, 1/2-20 X 2-1/4 17



www.patented-systems.com

25923 TINA LANE • KATY TX 77494  www.patented-systems.com      P  281-352-8588      F  501-694-3080

www.patented-systems.com

25923 TINA LANE • KATY TX 77494 www.patented-systems.com      P  281-352-8588      F  501-694-3080

Part availability as of March 2023 but subject to prior sale.  Part condition is new unless otherwise stated.

  Part Number				   Description			            Qty. In Stock

#022921 BOLT, HEX, 1/2-20 X 2-1/2 8

#022922 BOLT, HEX, 1/2-20 X 2-3/4 4

#022924 BOLT, HEX, 1/2-20 X 3-1/4 0

#022927 BOLT, HEX, 1/2-20 X 4 6

#022931 BOLT, HEX, 1/2-20 X 6 8

#022936 BOLT, HEX, 5/8-18 X 2 76

#022937 BOLT, HEX, 5/8-18 X 2-1/4    23

#022938 BOLT, HEX, 5/8-18 X 2-1/2 61

#022939 BOLT, HEX, 5/8-18 X 2-3/4    6

#022941 BOLT, HEX, 5/8-18 X 3-1/2 1

#022942 BOLT, HEX, 5/8-18 X 4” 2

#022945 BOLT, HEX, 5/8-18 X 5-1/2 14

#022947 BOLT, HEX, 3/4-16 X 2-1/4 500

#022948 BOLT, HEX, 3/4-16 X 2-1/2 3

#022949 BOLT, HEX, 3/4-16 X 2-3/4 3

#022957 BOLT, HEX, 3/4-16 X 6-1/2 1

#023003 BOLT, HEX, 5/16-24 X 1-1/4 10

#023005 BOLT, HEX, 5/16-24 X 1-3/4 88

#023006 BOLT, HEX, 5/16-24 X 2 283

HEX BOLT    #022902

Hex Bolt page B



www.patented-systems.com

25923 TINA LANE • KATY TX 77494 www.patented-systems.com      P  281-352-8588      F  501-694-3080

www.patented-systems.com

25923 TINA LANE • KATY TX 77494  www.patented-systems.com      P  281-352-8588      F  501-694-3080

Part availability as of March 2023 but subject to prior sale.  Part condition is new unless otherwise stated.

NUT    #023101

#023101 NUT, 1/4-28   67
#023102 NUT, 5/16-24  70
#023103 NUT, 3/8-24 137
#023104 NUT, 7/16-20  96
#023105 NUT, 1/2-20 200
#023106 NUT, 5/8-18 97
#023107 NUT, 3/4-16   19
#023108 NUT, 7/8-14  70
#023109 NUT, HEX 1”-14 UNF   8
#023155 NUT, 1/2-20, NI PLATED  77
#023158 NUT, 3/4-16, IN PLATED  15

  Part Number				   Description			            Qty. In Stock

JAM NUT    #023301

#023301 NUT, JAM, 1/4-28  95
#023303 NUT, JAM, 3/8-24 12
#023304 NUT, JAM, 7/16-20 63
#023305 NUT, JAM, 1/2-20 28
#023306 NUT, JAM, 5/8-18 21
#023307 NUT, JAM, 3/4-16  6
#023308 NUT, JAM, 7/8-14 65



www.patented-systems.com

25923 TINA LANE • KATY TX 77494  www.patented-systems.com      P  281-352-8588      F  501-694-3080

www.patented-systems.com

25923 TINA LANE • KATY TX 77494 www.patented-systems.com      P  281-352-8588      F  501-694-3080

Part availability as of March 2023 but subject to prior sale.  Part condition is new unless otherwise stated.

HEX SKT SCREW   #023802

  Part Number				   Description			            Qty. In Stock

#023802 SCREW, HEX SKT, 1/4-28 X 1/2 4

#023803 SCREW, HEX SKT, 1/4-28 X 5/8 112

#023804 SCREW, HEX SKT, 1/4-28 X 3/4 69

#023805 SCREW, HEX SKT, 1/4-28 X 7/8 49

#023806 SCREW, HEX SKT, 1/4-28 X 1” 45

#023807 SCREW, HEX SKT, 1/4-28 X 1-1/4 83

#023809 SCREW, HEX SKT, 1/4-28 X 1-3/4 44

#023813 SCREW, HEX SKT 5/16-24 X 5/8 93

#023815 SCREW, HEX SKT 5/16-24 X 7/8   8

SLOTTED NUT   #023501

#023501 NUT, SLOTTED, 1/4-28 48

#023503 NUT, SLOTTED,  3/8-24 54

#023504 NUT, SLOTTED, 7/16-20 20

#023505 NUT, SLOTTED, 1/2-20 42

Hex Screw page A



www.patented-systems.com

25923 TINA LANE • KATY TX 77494 www.patented-systems.com      P  281-352-8588      F  501-694-3080

www.patented-systems.com

25923 TINA LANE • KATY TX 77494  www.patented-systems.com      P  281-352-8588      F  501-694-3080

Part availability as of March 2023 but subject to prior sale.  Part condition is new unless otherwise stated.

HEX SKT SCREW   #023802

BEARING BALL    #024101

  Part Number				   Description			            Qty. In Stock

#024101 BEARING, BALL, 1/2” 3
#024107 BEARING, BALL, 1-1/4” 3
#024211 BEARING, BALL, 1-1/2” 2
#024282 BEARING, BALL, 1-5/8” 2

Hex Screw page B

#023817 SCREW, HEX SKT 5/16-24 X 1-1/4 23

#023819 SCREW, HEX SKT 5/16-24 X 2 73

#023822 SCREW, HEX SKT 3/8-24 X 5/8 38

#023823 SCREW, HEX SKT 3/8-24 X 3/4 13

#023826 SCREW, HEX SKT 3/8-24 X 1-1/4 14

#023827 SCREW, HEX SKT 3/8-24 X 1-1/2 25

#023828 SCREW, HEX SKT 3/8-24 X 1-3/4   7

#023832 SCREW, HEX SKT 3/8-24 X 2-3/4 10

#023838 SCREW, HEX SKT 3/8-24 X 4-1/4 7

#023846 SCREW, HEX SKT 1/2-20 X 1-1/4 23

#023855 SCREW, HEX SKT 5/8-18 X 1-1/4   5



www.patented-systems.com

25923 TINA LANE • KATY TX 77494  www.patented-systems.com      P  281-352-8588      F  501-694-3080

www.patented-systems.com

25923 TINA LANE • KATY TX 77494 www.patented-systems.com      P  281-352-8588      F  501-694-3080

Part availability as of March 2023 but subject to prior sale.  Part condition is new unless otherwise stated.

25923 TINA LANE • KATY TX 77494 www.patented-systems.com      P  281-647-9770      F  501-694-3080

SETSCREW, HX SCKT   #024300  

  Part Number				   Description			            Qty. In Stock

#024300 SETSCREW, HX SCKT 1/4-28 X 1/4 46
#024301 SETSCREW, HX SCKT 1/4-28 X 3/8 115
#024302 SETSCREW, HX SCKT 1/4-28 X 1/2 16
#024304 SETSCREW, HX SCKT 1/4-28 X 3/4 86
#024307 SETSCREW, HX SCK 5/16-24 X 1/2 36
#024310 SETSCREW, HX SCKT 3/8-24 X 1/4 49
#024311 SETSCREW, HX SCKT 3/8-24 X 3/8 48
#024312 SETSCREW, HX SCKT 3/8-24 X 1/2 38
#024314 SETSCREW, HX SCKT 3/8-24 X 3/4 35
#024318 SETSCREW, HX SK 3/8-24 X 1-1/2 39
#024321 SETSCREW, HX SCKT 1/2-20 X 1/2 15
#024322 SETSCREW, HX SCKT 1/2-20 X 5/8 13
#024323 SETSCREW, HX SCKT 1/2-20 X 3/4     3
#024331 SETSCREW, HX SCKT 5/8-18 X 5/8 10

TAB WASHER STRAIGHT    #024808

#024808 TAB WASHER, STRAIGHT, 7/8” 189



www.patented-systems.com

25923 TINA LANE • KATY TX 77494 www.patented-systems.com      P  281-352-8588      F  501-694-3080

www.patented-systems.com

25923 TINA LANE • KATY TX 77494  www.patented-systems.com      P  281-352-8588      F  501-694-3080

Part availability as of March 2023 but subject to prior sale.  Part condition is new unless otherwise stated.

TAB WASHER   #024902

#024902 TAB WASHER, 90 RIGHT, 1/4” 247

#024904 TAB WASHER, 90 RIGHT, 3/8” 56

#024955 TAB WASHER, 90 LEFT, 1/2” 67

  Part Number				   Description			            Qty. In Stock

NYLOC NUT 1/4-28    #026001

#026001 NUT, NYLOC, 1/4-28   104
#026002 NUT, NYLOC, 5/16-24 65
#026003 NUT, NYLOC, 3/8-24 72
#026004 NUT, NYLOC, 1/2-20 5
#026005 NUT, NYLOC, 5/8-18 11
#026007 NUT, NYLOC, 7/8-14 16

NUT  #026055

#026055 NUT, SELF-LOCKING,1/4-28 132
#026057 NUT, SELF-LOCKING, 3/8-24     20
#026061 NUT, SELF-LOCKING, 5/8-18    196



www.patented-systems.com

25923 TINA LANE • KATY TX 77494  www.patented-systems.com      P  281-352-8588      F  501-694-3080

www.patented-systems.com

25923 TINA LANE • KATY TX 77494 www.patented-systems.com      P  281-352-8588      F  501-694-3080

Part availability as of March 2023 but subject to prior sale.  Part condition is new unless otherwise stated.

  Part Number				   Description			            Qty. In Stock

STAINLESS STEEL BALL    #026812

#026812 BALL, STAINLESS STEEL, 1/2” 7
#026835 BALL, STAIVNLESS STEEL, 1/4” 5

SCREW, CSK HX SK  #026901

#026901 SCREW, CSK HX SK, 1/4-28 X 3/8 20

#026902 SCREW, CSK HX SK, 1/4-28 X 1/2 39

#026903 SCREW, CSK HX SK, 1/4-28 X 5/8 79

#026904 SCREW, CSK HX SK, 1/4-28 X 3/4 19

#026906 SCREW, CSK HX SK, 1/4-28 X 1    24

#026907 SCREW, CSK HX SK, 1/4-28 X 1-1/4 12

#026909 SCREW, CSK HX SK, 1/4-28 X 1-3/4 8

#026925 SCREW, CSK HX SK, 5/16-24 X 1 6

#026942 SCREW, CSK HX SK, 3/8 -24 X 5/8 63

#026943 SCREW, CSK HX SK, 3/8-24 X 3/4 34

#026995 SCREW, CSK HX SK, 2 BA X 1/2   7



www.patented-systems.com

25923 TINA LANE • KATY TX 77494 www.patented-systems.com      P  281-352-8588      F  501-694-3080

www.patented-systems.com

25923 TINA LANE • KATY TX 77494  www.patented-systems.com      P  281-352-8588      F  501-694-3080

Part availability as of March 2023 but subject to prior sale.  Part condition is new unless otherwise stated.

HELICOIL  #027457

STUD    #027556

#027451 HELICOIL, 1/4-28 X 1/4 0
#027456 HELICOIL, 5/16-24 X 5/8 82
#027457 HELICOIL, 3/8-24 X 3/8 0
#027459 HELICOIL, 3/8 UNF X 3/4 7
#027463 HELICOIL, 1/2-20 X 1/2 3
#027468 HELICOIL, 5/8-18 X 3/4 12
#027480 HELICOIL,1-12 X 2 2

  Part Number				   Description			            Qty. In Stock

#027556 STUD, 1/2-20 X 1-3/8 SO 37
#027557 STUD, 1/2-20 X 1-1/2 SO 6

SPLIT PIN    #027854          

#027854 PIN, SPLIT, 1/16” X 7/8”SS   54



www.patented-systems.com

25923 TINA LANE • KATY TX 77494  www.patented-systems.com      P  281-352-8588      F  501-694-3080

www.patented-systems.com

25923 TINA LANE • KATY TX 77494 www.patented-systems.com      P  281-352-8588      F  501-694-3080

Part availability as of March 2023 but subject to prior sale.  Part condition is new unless otherwise stated.

STUD    #028003

SCREW    #028206

  Part Number				   Description			            Qty. In Stock

#028003 STUD, 1/4-28 X 5/8 SO 15

#028020 STUD, 3/8-24 X 1-1/8 SO 170

#028206 SCREW, 1/4-28 X 1-1/4 BLACK 46

#028303 SCREW, HEX 5/16-24 X 3/4 44

BOLT   #028403

#028403 BOLT, 1/4-28 X 1-1/4 BLACK 59



www.patented-systems.com

25923 TINA LANE • KATY TX 77494 www.patented-systems.com      P  281-352-8588      F  501-694-3080

www.patented-systems.com

25923 TINA LANE • KATY TX 77494  www.patented-systems.com      P  281-352-8588      F  501-694-3080

Part availability as of March 2023 but subject to prior sale.  Part condition is new unless otherwise stated.

  Part Number				   Description			            Qty. In Stock

NUT   #028602

#028602           NUT, 5/16-24 BLACK 42

OVAL JOINT    #029302

#029302 JOINT, OVAL, 7/8 TU 6

#029401 JOINT, OVAL, 3/4 TU 4

  Part Number				   Description			            Qty. In Stock



www.patented-systems.com

25923 TINA LANE • KATY TX 77494  www.patented-systems.com      P  281-352-8588      F  501-694-3080

www.patented-systems.com

25923 TINA LANE • KATY TX 77494 www.patented-systems.com      P  281-352-8588      F  501-694-3080

Part availability as of March 2023 but subject to prior sale.  Part condition is new unless otherwise stated.

0-RING    #030314

  Part Number				   Description			            Qty. In Stock

#030314 0-RING 95
#030514 0-RING 20
#030635 0-RING 3

RIVET    #036043          

FLANGE JOINT     #035504

#036043 RIVET, SNAP HEAD, 1/4 X 3/4” 20

#035504 JOINT, SQUARE FLANGE, 2” 2

#035605 JOINT, SQUARE FLANGE, 2-1/4”   0

#035607 JOINT, SQUARE FLANGE, 3-1/4”   0



www.patented-systems.com

25923 TINA LANE • KATY TX 77494 www.patented-systems.com      P  281-352-8588      F  501-694-3080

www.patented-systems.com

25923 TINA LANE • KATY TX 77494  www.patented-systems.com      P  281-352-8588      F  501-694-3080

Part availability as of March 2023 but subject to prior sale.  Part condition is new unless otherwise stated.

  Part Number				   Description			            Qty. In Stock

BONDED SEAL    #036603

#036603 SEAL, BONDED, 1/4” 114

#036604 SEAL, BONDED, 5/16”   29

#036605 SEAL, BONDED, 1/8 BSP

#036606 SEAL, BONDED, 7/16”      3

#036607 SEAL, BONDED, 1/4 BSP 124

#036610 SEAL, BONDED, 3/8 BSP      82

#036612 SEAL, BONDED, 3/4”  45

#036613 SEAL, BONDED, 1/2 BSP    17

#036614 SEAL, BONDED, 5/8 BSP   65

#036616 SEAL, BONDED, 3/4 BSP 220

#036618 SEAL, BONDED, 7/8 BSP 56

#036620 SEAL, BONDED, 1” BSP     62

#036623 SEAL, BONDED, 1-1/4 BSP 67

#036625 SEAL, BONDED, 1-1/2 BSP 15

#036629 SEAL, BONDED, 3” BSP    0

153



www.patented-systems.com

25923 TINA LANE • KATY TX 77494  www.patented-systems.com      P  281-352-8588      F  501-694-3080

www.patented-systems.com

25923 TINA LANE • KATY TX 77494 www.patented-systems.com      P  281-352-8588      F  501-694-3080

Part availability as of March 2023 but subject to prior sale.  Part condition is new unless otherwise stated.

  Part Number				   Description			            Qty. In Stock

0-RING    #036703

#036703 0-RING, 1/16 X 3/16 X5/16 67

#036705 0-RING, 1/16 X 1/4 X 3/8   93

#036706 0-RING, 1/16 X 5/16 X 7/16 84

#036707 0-RING, 1/16 X 3/8 X 1/2 64

#036709 0-RING, 3/32 X 7/16 X 5/8 109

#036710 0-RING,3/32 X 1/2 X 11/16 181

#036711 0-RING, 3/32 X 9/16 X 3/4  49

#036712 0-RING, 3/32 X 5/8 X 13/16 18

#036716 0-RING, 1/8 X 13/16 X 1-1/16      95

#036719 0-RING, 1/8 X 1X 1-1/4   51

#036721 0-RING, 1/8 X 1-1/8 X 1-3/8 103

#036722 0-RING, 1/8 X 1-3/16 X 1-7/16   20

#036723 0-RING, 1/8 X 1-1/4 X 1-1/2 165

#036724 0-RING, 1/8 X 1-5/16 X 1-9/16  15

#036725 0-RING, 1/8 X 1-3/8 X 1-5/8  96

#036726 0-RING, 1/8 X 1-7/16 X 1-11/16  29

#036729 0-RING, 3/16 X 1-5/8 X 2 115

O-ring page A



www.patented-systems.com

25923 TINA LANE • KATY TX 77494 www.patented-systems.com      P  281-352-8588      F  501-694-3080

www.patented-systems.com

25923 TINA LANE • KATY TX 77494  www.patented-systems.com      P  281-352-8588      F  501-694-3080

Part availability as of March 2023 but subject to prior sale.  Part condition is new unless otherwise stated.

  Part Number				   Description			            Qty. In Stock

0-RING    #036703

#036730 0-RING, 3/16 X 1-3/4 X 2-1/8 17

#036732 0-RINGM, 3/16 X 2 X 2-3/8 21

#036736 0-RING, 3/16 X 2-1/2 X 2-7/8 11

#036739 0-RING, 3/16 X 2-7/8 X 3-1/4 14

#036743 0-RING, 3/16 X 3-3/8 X 3-3/4 16

#036744 0-RING, 3/16 X 3-1/2 X 3-7/8 11

#036745 0-RING, 3/16 X 3-5/8 X4” 5

#036749 0-RING, 3/16 X 4-1/8 X 4-1/2 20

#036764 0-RING, 1/4 X 5-7/8 X 6-3/8 23

#036768 0-RING, 1/4 X 6-3/4 X 7-1/4 3

#036769 0-RING, 1/4 X 7 X 7-1/2 1

#036770 0-RING, 1/4 X 7-1/4 X  7-3/4 6

#036771 0-RING, 1/4 X 7-1/2  X 8 14

#036773 0-RING, 1/4 X 8 X 7-1/2     1

#036775 0-RING, 1/4 X 8-1/2 X 9 6

#036783 0-RING, 1/4 X 10-1/2 X 11 4

#036789 0-RING, 1/4 X 12 X 12-1/2 5

#036792 0-RING, 1/4 X 13-1/2 X 14 0

O-ring page B



www.patented-systems.com

25923 TINA LANE • KATY TX 77494  www.patented-systems.com      P  281-352-8588      F  501-694-3080

www.patented-systems.com

25923 TINA LANE • KATY TX 77494 www.patented-systems.com      P  281-352-8588      F  501-694-3080

Part availability as of March 2023 but subject to prior sale.  Part condition is new unless otherwise stated.

  Part Number				   Description			            Qty. In Stock

DOWEL    #038902

#038902 DOWEL, 1/8 X 1/2 2

#038904 DOWEL, 1/8 X 3/4 44

#038925 DOWEL, 1/4 X 1/2 39

#038926 DOWEL, 1/4 X 3/4 58

#038927 DOWEL,  1/4 X 7/8 46

#038928 DOWEL, 1/4 X 1 6

#038951 DOWEL, 3/8 X 7/8 23

#038952 DOWEL, 3/8 X 1 41

#038954 DOWEL, 3/8 X 1-1/4 12

#038969 DOWEL, 1/2 X 1-1/4 11

#038970 DOWEL, 1/2 X 1-1/2 2

#038972 DOWEL1/2 X 2 6



www.patented-systems.com

25923 TINA LANE • KATY TX 77494 www.patented-systems.com      P  281-352-8588      F  501-694-3080

www.patented-systems.com

25923 TINA LANE • KATY TX 77494  www.patented-systems.com      P  281-352-8588      F  501-694-3080

Part availability as of March 2023 but subject to prior sale.  Part condition is new unless otherwise stated.

ELBOW TUBE    #039602

PLUG     #053101

  Part Number				   Description			            Qty. In Stock

#039602 ELBOW, 1/4” TUBE 20

#053101 PLUG, 1/8” BSP 0

#053102 PLUG, 1/4 BSP 20

#053103 PLUG, 3/8” BSP STEEL, STYLE #910 1

#053105 3/4” BSP PLUG 4

#053120 PLUG, SS STEEL 1/2 BSP   7



www.patented-systems.com

25923 TINA LANE • KATY TX 77494  www.patented-systems.com      P  281-352-8588      F  501-694-3080

www.patented-systems.com

25923 TINA LANE • KATY TX 77494 www.patented-systems.com      P  281-352-8588      F  501-694-3080

Part availability as of March 2023 but subject to prior sale.  Part condition is new unless otherwise stated.

BOLT   #115-410-035

SCREW    #117-310-025

  Part Number				   Description			            Qty. In Stock

#115-410-035 BOLT 81
#115-410-110 BOLT, NICKL   2

 #117-310-025 SET SCREW 2

SCREW   #119-403-008

#119-403-008 SCREW, M3 X 8MM 88

CAPSCREW   #151-110-100

#151-110-100 CAPSCREW 7



www.patented-systems.com

25923 TINA LANE • KATY TX 77494 www.patented-systems.com      P  281-352-8588      F  501-694-3080

www.patented-systems.com

25923 TINA LANE • KATY TX 77494  www.patented-systems.com      P  281-352-8588      F  501-694-3080

Part availability as of March 2023 but subject to prior sale.  Part condition is new unless otherwise stated.

NUT   #211-165-010

 #211-165-010 NUT 86

SCREW   #152-210-020

  Part Number				   Description			            Qty. In Stock

#152-210-020 SCREW, COUNTERSUNK 46
#152-210-040 SCREW, COUNTERSUNK 46

NUT  #211-114-020

 #211-114-020 NUT, M20 X 2.5 24

NUT    #215-512-008

#215-512-008 NUT, SELF LOCKING M8 88



www.patented-systems.com

25923 TINA LANE • KATY TX 77494  www.patented-systems.com      P  281-352-8588      F  501-694-3080

www.patented-systems.com

25923 TINA LANE • KATY TX 77494 www.patented-systems.com      P  281-352-8588      F  501-694-3080

Part availability as of March 2023 but subject to prior sale.  Part condition is new unless otherwise stated.

LOCK WASHER    #233-211-010

WASHER   #233-221-006

#233-221-006 WASHER, LOCK 50

#233-211-010 WASHER, LOCK 4

  Part Number				   Description			            Qty. In Stock

WASHER   #500513

#500513 WASHER, FLAT 80

STUD   #500551

 #500551 STUD, 1/2-20 X 1-1/4 SO 32



www.patented-systems.com

25923 TINA LANE • KATY TX 77494 www.patented-systems.com      P  281-352-8588      F  501-694-3080

www.patented-systems.com

25923 TINA LANE • KATY TX 77494  www.patented-systems.com      P  281-352-8588      F  501-694-3080

Part availability as of March 2023 but subject to prior sale.  Part condition is new unless otherwise stated.

SCREW   #500706

#500706 SCREW, HEX 1/4-28 X 7/8  84

#500707 SCREW, HEX 3/8-24 X 1-1/8  0

  Part Number				   Description			            Qty. In Stock

HEX BOLT    #500807

#500807 BOLT, HEX 1/2-20 X 9”  0
#500809 BOLT, HEX 5/16-24 X 3-3/4 10
#500811 BOLT, HEX 1/4-28 X 3” 24
#500815 BOLT, HEX 3/8-24 X 4-9/16 24
#500865 BOLT, HEX 3/8-24 X 1-3/8  7

RING   #500906

#500906 RING, RETAINING .750 INT. 19

#500914 RING, RETAINING 1.25 INT. 48

#500916 RING, RETAINING 1.375 INT. 47

#500930 RING, RETAINING 3.000 INT.    1



www.patented-systems.com

25923 TINA LANE • KATY TX 77494  www.patented-systems.com      P  281-352-8588      F  501-694-3080

www.patented-systems.com

25923 TINA LANE • KATY TX 77494 www.patented-systems.com      P  281-352-8588      F  501-694-3080

Part availability as of March 2023 but subject to prior sale.  Part condition is new unless otherwise stated.

RING    #501020

  Part Number				   Description			            Qty. In Stock

#501020 RING, RETAINING, 2.000” EXT. 24

#501021 RING, RETAINING, 1.125” EXT. 2

WASHER   #502374

#502374 WASHER, SHAKEPROOF, 5/16” 0

#502375 WASHER, SHAKEPROOF, 7/16” 91

#502378 WASHER, SHAKEPROOF, 2 BA 149

#502381 WASHER, SHAKEPROOF, 6 BA 241

PIN WASHER    #503227

#503227 WASHER, 3/8” MOTION PIN 2



www.patented-systems.com

25923 TINA LANE • KATY TX 77494 www.patented-systems.com      P  281-352-8588      F  501-694-3080

www.patented-systems.com

25923 TINA LANE • KATY TX 77494  www.patented-systems.com      P  281-352-8588      F  501-694-3080

Part availability as of March 2023 but subject to prior sale.  Part condition is new unless otherwise stated.

BOLT   #503677

  Part Number				   Description			            Qty. In Stock

#503677 BOLT, 2 BA X 1-1/2 92

SCREW   #503805

#503805 SCREW, 3/8-24 X 1” LOCK WIRE 25

#503817 SCREW, 3/8-24 X 2” LOCK WIRE 2
#503830 SCREW, 1/2-20 X 3” LOCK WIRE 0
#503850 SCREW,1/4-28 X 1-3/4 LOCK WIRE

SCREW   #504629

#504629 SCREW, SCKT HD 1/4-28 X 2-3/4 10

#504640 SCREW, SCKT HD 5/16-18 X 7/8 50

#504654 SCREW, SCKT HD 5/16-18 X 1-1/4 124

0



www.patented-systems.com

25923 TINA LANE • KATY TX 77494  www.patented-systems.com      P  281-352-8588      F  501-694-3080

www.patented-systems.com

25923 TINA LANE • KATY TX 77494 www.patented-systems.com      P  281-352-8588      F  501-694-3080

Part availability as of March 2023 but subject to prior sale.  Part condition is new unless otherwise stated.

#505531 STUD, 1/2-20 x 2" SO 10

STUD   #505531

NUT   #506405

  Part Number				   Description			            Qty. In Stock

#506405 NUT, 1/2-13 55

#506409 NUT, 1-8 UNC 15

STUD   #506683

#506683 STUD, 5/8 UNF X 7-1/4” SO 1



www.patented-systems.com

25923 TINA LANE • KATY TX 77494 www.patented-systems.com      P  281-352-8588      F  501-694-3080

www.patented-systems.com

25923 TINA LANE • KATY TX 77494  www.patented-systems.com      P  281-352-8588      F  501-694-3080

Part availability as of March 2023 but subject to prior sale.  Part condition is new unless otherwise stated.

  Part Number				   Description			            Qty. In Stock

0-RING    #506802

O-ring page A

#506802 0-RING, 1/8 X 2-3/8 40

#506814 0-RING, 1/8 X 2-3/4  1

#506825 0-RING, 1/16 X 5/8 62

#506841 0-RING, 3/32 X 1-3/8 6

#506843 0-RING, 3/16 X 2-7/8 3

#506844 0-RING, 1/8 X 2-1/4 5

#506846 0-RING, 1/8 X 1-3/4 35

#506849 0-RING, 3/32 X 3/4 28

#506852 0-RING, 3/23 X 7/16 16

#506853 0-RING, 3/32 X 2-5/16 7

#506854 0-RING, 1/8 X 1-1/16 28

#506855 0-RING, 1/8 X 1-1/8 96

#506856 0-RING, 1/8 X 1-3/8 43



www.patented-systems.com

25923 TINA LANE • KATY TX 77494  www.patented-systems.com      P  281-352-8588      F  501-694-3080

www.patented-systems.com

25923 TINA LANE • KATY TX 77494 www.patented-systems.com      P  281-352-8588      F  501-694-3080

Part availability as of March 2023 but subject to prior sale.  Part condition is new unless otherwise stated.

  Part Number				   Description			            Qty. In Stock

0-RING    #506802

O-ring page B

#506857 0-RING, 1/8 X 1-7/8   4

#506858 0-RING, 1/8 X 2-7/8 41

#506859 0-RING, 1/8 X 3-5/8 36

#506861 0-RING, 1/8 X 4-5/8 51

#506862 0-RING, 1/8 X4-7/8 57

#506863 0-RING, 1/8 X6” 1

#506864 0-RING, 3/16 X 1-3/4 74

#506865 0-RING, 3/16 X 2-3/8 27

#506866 0-RING, 3/16 X 2-1/2 11

#506867 0-RING, 1/8 X 6-3/4 24

#506868 0-RING, 3/16 X 2-1/4 82

#506869 0-RING, 3/16 X 3” 88

#506874 0-RING, 1/8 X 3-3/8 7



www.patented-systems.com

25923 TINA LANE • KATY TX 77494 www.patented-systems.com      P  281-352-8588      F  501-694-3080

www.patented-systems.com

25923 TINA LANE • KATY TX 77494  www.patented-systems.com      P  281-352-8588      F  501-694-3080

Part availability as of March 2023 but subject to prior sale.  Part condition is new unless otherwise stated.

BUSH   #509901  

STUD   #506922

HEX BOLT   #507033   

  Part Number				   Description			            Qty. In Stock

 #506922 STUD, 1/2-13 X 1-1/4 SO 5

#507033 BOLT, HEX 1/2-13 X 1-1/2” 34

#509901 BUSH, DRY, 3/4” 366

#509910 BUSH, DRY, 3/4” 16



www.patented-systems.com

25923 TINA LANE • KATY TX 77494  www.patented-systems.com      P  281-352-8588      F  501-694-3080

www.patented-systems.com

25923 TINA LANE • KATY TX 77494 www.patented-systems.com      P  281-352-8588      F  501-694-3080

Part availability as of March 2023 but subject to prior sale.  Part condition is new unless otherwise stated.

NEOPRENE   #64/02001006/12

  Part Number				   Description			            Qty. In Stock

#64/02001006/12 NEOPRENE, 3/8 X 3/8 5

SEALANT   #CT-1045

HYLOMAR   #CT-1014/3

#CT-1014/3 HYLOMAR, PL32 MEDIUM 10

 #CT-1045 SEALANT, AVIATION GASKET 11



www.patented-systems.com

25923 TINA LANE • KATY TX 77494 www.patented-systems.com      P  281-352-8588      F  501-694-3080

www.patented-systems.com

25923 TINA LANE • KATY TX 77494  www.patented-systems.com      P  281-352-8588      F  501-694-3080

Part availability as of March 2023 but subject to prior sale.  Part condition is new unless otherwise stated.

  Part Number				   Description			            Qty. In Stock

0-RING    #CT-336/12

#CT-336/12 0-RING, 3/16 X 5-1/4 X 5-5/8 9
#CT-336/13 0-RING, .067 X .234 X 3/8 67
#CT-336/21 0-RING, 1/4 X 15” X 15-1/2 19
#CT-336/28 0-RING, 3/32 X 1-1/2 X 1-11/16 117
#CT-336/3 0-RING, 3/32 X 7/8 X 1-1/16 53

#CT-336/31 0-RING, 1/8 X 3-3/8 X 3-5/8 33
#CT-336/33 0-RING, 3/32 X 1-5/16 X 1-1/2     8
#CT-336/34 0-RING, 3/32 X 15/16 X 1-1/8 76
#CT-336/35 0-RING, 1/8 X 1-5/8 X 1-7/8   95
#CT-336/36 0-RING, 1/8 X 1-5/8 X 1-7/8 84
#CT-336/37 0-RING, .067 X .296 X 7/16   9
#CT-336/38 0-RING, 1/8 X 1-3/4 X 2”   98
#CT-336/40 0-RING, .135 X 1.365 X 1-5/8 25
#CT-336B/1 0-RING, 3/32 X 1/2 X 11/16 14

#CT-336B/10 0-RING, 1/16 X 5/16 X 7/16 0
#CT-336B/11 0-RING, 3/32 X 3/4 X 15/16 123
#CT-336B/12 0-RING, 1/8 X 1” X 1-1/4 29
#CT-336B/13 0-RING, 1/8 X 1-3/8 X 1-5/8 85
#CT-336B/19 0-RING, 1/8 X 2-11/16 X 2-15/16 49
#CT-336B/36 0-RING, 3/16 X 1-3/4 X 2-1/8 7
#CT-336B/37 0-RING, 3/16 X 2” X 2-3/8 21
#CT-336B/38 0-RING, 3/16 X 10-1/4 X 10-5/8 1
#CT-336B/39 0-RING, 1/4 X 7” X 7-1/2 0
#CT-336B/40 0-RING, 1/4 X 9-1/2 X 10” 8
#CT-336B/8 0-RING, 3/32 X 11/16 X 7/8 8

O-ring page A



www.patented-systems.com

25923 TINA LANE • KATY TX 77494  www.patented-systems.com      P  281-352-8588      F  501-694-3080

www.patented-systems.com

25923 TINA LANE • KATY TX 77494 www.patented-systems.com      P  281-352-8588      F  501-694-3080

Part availability as of March 2023 but subject to prior sale.  Part condition is new unless otherwise stated.

  Part Number				   Description			            Qty. In Stock

0-RING CORD    #CT-336D/21

#CT-336D/21 0-RING CORD, 139 X AS RQD 26

#CT-336D/24 0-RING CORD, .210 X 12-1/2 1

#CT-336D/29 0-RING CORD, 3MM X AS RQD 110

#CT-336F/10 0-RING, 3/32 X 11/16   1

#CT-336F/13 0-RING, 3/16 X 2” 3

#CT-336F/14 0-RING, 1/4 X 7” 0

#CT-336F/15 0-RING, 1/4 X 9-1/2 1

#CT-336F/16 0-RING, 1/4 X 10” 0

#CT-336F/17 0-RING, 3/32 X 9/16 98

#CT-336F/18 0-RING, 1/8 X 3/4 89

#CT-336F/19 0-RING, 1/8 X 7/8 48

#CT-336F/20 0-RING, 1/8 X 1-1/8 75

#CT-336F/27 0-RING, 1/4  X 10-1/2 3

#CT-336F/33 0-RING, 1/16 X 1/4 132

#CT-336F/38 0-RING, 1/8 X 1-5/16 11

#CT-336F/4 0-RING, 1/4 X 7-3/4 8

O-ring page B



www.patented-systems.com

25923 TINA LANE • KATY TX 77494 www.patented-systems.com      P  281-352-8588      F  501-694-3080

www.patented-systems.com

25923 TINA LANE • KATY TX 77494  www.patented-systems.com      P  281-352-8588      F  501-694-3080

Part availability as of March 2023 but subject to prior sale.  Part condition is new unless otherwise stated.

DRILL   #CT-4017D/50

GREASE   #CT-4017G/18

  Part Number				   Description			            Qty. In Stock

#CT-4017D/50 DRILL, NIMONIC, 5/8” 1

#CT-4017G/18 GREASE, SILICONE 7

SPARES KIT   #CT-4017K/29

#CT-4017K/29 KIT, SPARES (64/60070024/1&3) 1

#CT-4017K/32 KIT, SPARES (64/60070027/1) 1

#CT-4017K/33 KIT, REPAIR FOR 64/60070024/2 1

#CT-4017K/34 KIT, REPAIR FOR 64/60070024/3&8 3

#CT-4017K/35 KIT, REPAIR (64/60070024/4) 1



www.patented-systems.com

25923 TINA LANE • KATY TX 77494  www.patented-systems.com      P  281-352-8588      F  501-694-3080

www.patented-systems.com

25923 TINA LANE • KATY TX 77494 www.patented-systems.com      P  281-352-8588      F  501-694-3080

Part availability as of March 2023 but subject to prior sale.  Part condition is new unless otherwise stated.

GASKET KIT   #CT-4017K/62

  Part Number				   Description			            Qty. In Stock

#CT-4017K/62 GASKET KIT, LUBE OIL PUMP 1

POTENTIOMETER   #CT-4017P/47

#CT-4017P/47 POTENTIOMETER, 5K OHM 4

O-RING   #CT-4017R/3

 #CT-4017R/3 O-RING 3

 #CT-4017R/36 O-RING, SEAL 29

 #CT-4017R/37 O-RING, SEAL 20



www.patented-systems.com

25923 TINA LANE • KATY TX 77494 www.patented-systems.com      P  281-352-8588      F  501-694-3080

www.patented-systems.com

25923 TINA LANE • KATY TX 77494  www.patented-systems.com      P  281-352-8588      F  501-694-3080

Part availability as of March 2023 but subject to prior sale.  Part condition is new unless otherwise stated.

TAPE    #CT-4017T/13

  Part Number				   Description			            Qty. In Stock

#CT-4017T/13 MASKING TAPE, 2” 7

LOCKING WIRE   #CT-4017W/17

#CT-4017W/17 WIRE, LOCKING, S.S. 18 GAUGE 90

#CT-4017W/35 WIRE, LOCKING 1

SPLIT PIN   #CT-614/1

#CT-614/1 PIN, SPLIT 1/16 X 1/2 SS 43



www.patented-systems.com

25923 TINA LANE • KATY TX 77494  www.patented-systems.com      P  281-352-8588      F  501-694-3080

www.patented-systems.com

25923 TINA LANE • KATY TX 77494 www.patented-systems.com      P  281-352-8588      F  501-694-3080

Part availability as of March 2023 but subject to prior sale.  Part condition is new unless otherwise stated.

DOWEL  #CT-645/203

#CT-645/203 DOWEL, 3/8” X 3/4” LG 4
#CT-645A/24 DOWEL, 3/32” X 9/16” LG 17
#CT-645A/27 DOWEL, 3/32” X 5/8” LG 3
#CT-645A/37 DOWEL, 3/32” X 1” 49
#CT-645A/39 DOWEL, 3/32” X 7/16” LG 13
#CT-645A/41 DOWEL, 1/8” X 7/16” LG 45

  Part Number				   Description			            Qty. In Stock

SCREW  #CT-654/1

#CT-654/1 SCREW, CSK, 4 BA X 5/16” 39
#CT-654/10 SCREW, CSK, 4 BA X 1-1/4”   0
#CT-654/2 SCREW, CSK, 4 BA X 1/4   44
#CT-654/3 SCREW, CSK, 2 BA X 5/16”   75
#CT-654/4 SCREW, CSK, 2 BA X 3/8” 27
#CT-654/5 SCREW, CSK, 2 BA X 1/2” 21
#CT-654/6 SCREW, CSK, 4 BA X 1” 50
#CT-654/7 SCREW, CSK, 6 BA X 1/2” 68
#CT-654/9 SCREW, CSK, 2 BA X 5/8”   92



www.patented-systems.com

25923 TINA LANE • KATY TX 77494 www.patented-systems.com      P  281-352-8588      F  501-694-3080

www.patented-systems.com

25923 TINA LANE • KATY TX 77494  www.patented-systems.com      P  281-352-8588      F  501-694-3080

Part availability as of March 2023 but subject to prior sale.  Part condition is new unless otherwise stated.

SPRING   #CT-677/2

HYDRAULIC   #CT-886/3

DISK SPRING   #CT-758/1

  Part Number				   Description			            Qty. In Stock

#CT-677/2 PIN, SPRING, 1/8 X 5/8” SS 4

#CT-758/1 DISK SPRING, 1 X 14.22 X28 MM 3

  Part Number				   Description			            Qty. In Stock

#CT-886/3 LOCTITE, HYDRAULIC, 50 ML 6



www.patented-systems.com

25923 TINA LANE • KATY TX 77494  www.patented-systems.com      P  281-352-8588      F  501-694-3080

www.patented-systems.com

25923 TINA LANE • KATY TX 77494 www.patented-systems.com      P  281-352-8588      F  501-694-3080

Part availability as of March 2023 but subject to prior sale.  Part condition is new unless otherwise stated.

ANTI-SEIZE   #CT-887B/2

  Part Number				   Description			            Qty. In Stock

#CT-887B/2 ANTI-SEIZE (NICKEL BASE) 5

DIODE   #CT-91006/5

#CT-91006/5 DIODE 85

#CT-91006/8 DIODE, 36V STUD MOUNTED   1

PANEL   #CT-91010/1

#CT-91010/1 INDICATOR, PANEL, NEON, RED 6



www.patented-systems.com

25923 TINA LANE • KATY TX 77494 www.patented-systems.com      P  281-352-8588      F  501-694-3080

www.patented-systems.com

25923 TINA LANE • KATY TX 77494  www.patented-systems.com      P  281-352-8588      F  501-694-3080

Part availability as of March 2023 but subject to prior sale.  Part condition is new unless otherwise stated.

FUSE   #CT-91012/100

  Part Number				   Description			            Qty. In Stock

#CT-91012/100 FUSE, 4 AMP 12

#CT-91012/20 FUSE 3

#CT-91012/22 FUSE, 20MM CARTRIDGE 100MA 2

#CT-91012/24 FUSE, 250MA 35

#CT-91012/25 FUSE, 500MA 10

#CT-91012/32 FUSE, 20MM CARTRIDGE 2MA 40

#CT-91012/34 FUSE, 20MM CARTRIDGE 3MA 180

#CT-91012/36 FUSE, 5 AMP, 250 VOLT 4

#CT-91012/40 FUSE, 250 MA 15

#CT-91012/41 FUSE, 500 MA 12

#CT-91012/49 FUSE, 3 AMP 14

#CT-91012/53 FUSE, 10 AMP, FAST ACTING 8

#CT-91012/54 FUSE, 15 AMP 261

#CT-91012/65 FUSE, 20 MM ANTI SURGE, 1A 42

#CT-91012/67 FUSE, 1.6A, 20MM ANTISURGE 244



www.patented-systems.com

25923 TINA LANE • KATY TX 77494  www.patented-systems.com      P  281-352-8588      F  501-694-3080

www.patented-systems.com

25923 TINA LANE • KATY TX 77494 www.patented-systems.com      P  281-352-8588      F  501-694-3080

Part availability as of March 2023 but subject to prior sale.  Part condition is new unless otherwise stated.

CIRCUT   #CT-91013/36

  Part Number				   Description			            Qty. In Stock

#CT-91013/36 BREAKER, CIRCUIT, 5 AMP 7

#CT-91013/41 BREAKER, CIRCUIT, 20 AMP 1

METRIC SCREW   #CT-91039A/21

#CT-91039A/21 SCREW, METRIC 97

SCREW    #CT-91167B/2

#CT-91167B/2 SCREW, LOCATING 154



www.patented-systems.com

25923 TINA LANE • KATY TX 77494 www.patented-systems.com      P  281-352-8588      F  501-694-3080

www.patented-systems.com

25923 TINA LANE • KATY TX 77494  www.patented-systems.com      P  281-352-8588      F  501-694-3080

Part availability as of March 2023 but subject to prior sale.  Part condition is new unless otherwise stated.

FIXING SCREW    #CT-91167C/2

SOCKET   #CT-91167C/1

#CT-91167C/1 SUPPORT, SOCKET 38

  Part Number				   Description			            Qty. In Stock

#CT-91167C/2 SCREW, FIXING, SOCKET SUPPORT 25

STRIP   #CT-91167C/3

#CT-91167C/3 STRIP, FIXING, FRAME CONNECT. 154

CLIP   #CT-91167D/1

#CT-91167D/1 CLIP, RETAINER BOARD 252



www.patented-systems.com

25923 TINA LANE • KATY TX 77494  www.patented-systems.com      P  281-352-8588      F  501-694-3080

www.patented-systems.com

25923 TINA LANE • KATY TX 77494 www.patented-systems.com      P  281-352-8588      F  501-694-3080

Part availability as of March 2023 but subject to prior sale.  Part condition is new unless otherwise stated.

SCREW   #CT-91210/64

  Part Number				   Description			            Qty. In Stock

#CT-91210/64 SCREW, CHROME, M6 X 16MM 4

NUT  #CT-91210/68

 #CT-91210/68 NUT, CAPTIVE, M6 X 16 179

NUT    #CT-91210/69

#CT-91210/69 NUT, HEX M6 87

FLATWASHER   #CT-91210/71

#CT-91210/71 FLATWASHER, CHROME, M6 5



www.patented-systems.com

25923 TINA LANE • KATY TX 77494 www.patented-systems.com      P  281-352-8588      F  501-694-3080

www.patented-systems.com

25923 TINA LANE • KATY TX 77494  www.patented-systems.com      P  281-352-8588      F  501-694-3080

Part availability as of March 2023 but subject to prior sale.  Part condition is new unless otherwise stated.

WASHER   #TA-03107

SETSCREW   #TA-08049

#TA-03107 WASHER, BRASS 1/2” 2

PUSHBUTTON   #CT-91614/1

  Part Number				   Description			            Qty. In Stock

#CT-91614/1 SWITCH, PUSHBUTTON, GREEN 9

SETSCREW   #TA-08048

#TA-08048 SETSCREW, 1/2” UNF X 5/8” LG 48

#TA-08049 SETSCREW, 5/8” UNF X 7/8” LG 48



www.patented-systems.com

25923 TINA LANE • KATY TX 77494  www.patented-systems.com      P  281-352-8588      F  501-694-3080

www.patented-systems.com

25923 TINA LANE • KATY TX 77494 www.patented-systems.com      P  281-352-8588      F  501-694-3080

Part availability as of March 2023 but subject to prior sale.  Part condition is new unless otherwise stated.

SCREW   #TA-12049A/6

CAPSCREW   #TB-31062

#TA-12049A/6 CSK. SCREW, M3 X 8MM, GRADE 8.8 58

SCREW   #TB-32616A/4

  Part Number				   Description			            Qty. In Stock

#TB-32616A/4 SCREW, PAN HEAD 69

SCREW   #TA-12049A/7

#TA-12049A/7 CSK. SCREW, 4BA X 1/4” GRD 8.8 172

#TB-31062 CAPSCREW SPEC 1/2 UNFX 1 3/4 11




